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It is commonly seen that test items are organized in the presence-severity (P-S) format, which means respondents are asked to check the presence of certain event, and later evaluate the severity if that event takes place indeed. The presence part acts a filter to ascertain the described event has been experienced for a respondent, so that the following response in respect to severity is valid. Since past methods (page 2) cannot deal with the P-S data properly, a new approach was proposed. First of all, a pair responses of P and S parts need to be recoded as a single variable. Thus the produced variable presents the outcome of all possible combinations. Secondly, ordinary data is created by defining the ordering of all response combinations, as those in Table 2. After above steps, either IRT model could be utilized to fit the ordinary data. Lastly the NRM is recommended to fit the ordinary data because it can capture the most information. The findings of empirical analysis were investigated through observing the pattern of item estimates. 
1. The third illustration of recoding in Table 2 was incomplete. A row showing P = 2 was missed.
2. By such recoding (Table 1 & 2), a set of sequence items becomes a super item, so that the original item structure was vanished. 

3. Moreover, only a latent trait was involved in the present analysis. It is pity that the authors did not explain what is measured in the NRM. Obviously the nature of  is neither the health level (presence of physical/psychological symptoms) nor the frequency of falling ill (severity of physical/psychological symptoms).
4. The interpretation of ak strongly relies on the predetermined ordering of recoded responses. An essential question is: What is the “proper” ordering? And how to define that? For example, as the case illustrated in Table 2(d), one may propose another ordering that 12 deserves a higher rank than 21.
